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N.B. .— (@) Solve Q. No. 1 on OMR sheet.

(iz1) Question No. 1 and question No. 2 are compulsory.
(ii1) All questions carry equal marks.
(fv) Simple calculator is allowed.
@) W1 %A% 1 OMR sheet o= e
(i) W wHEw 1 o7 2 ¥ Afard sTRa.
(i) | WA HAE O R
(v) Y RIS FRTAE A L.

MCQ 10
1. (D) Current year price and base year quantity is shown by :
(A PpPogo (B)  p1qg
©) Py D) p1aq
o et fRAa it SMuResT W v wAE SFitad A ?
(A pyqg B)  piqg
©)  poaq D) p1aq
(2) Which is the formula of time reversal test ?
(A) p1g X gy =1 B) gy xqgy=1
(C) pog1 X p1pg=1 (D) None of these
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AT Ikl ST=0e 3 R0 ?

(&) pig X gy =1 (B) g9 xqg=1

(C) po1 xp1p=1 (D) AR TH B AR

A matrix in which the number of rows are equal to number of columns
is called :

(A) Column Matrix (B) Row Matrix

(C) Diagonal Matrix (D) Square Matrix
wwmmw’qwmwmm .................... wuﬁa:lﬁ
ERGIGE

(A) w9 "R (B) T WO

(C) =vl |l (D) =& "ol

An agent sold Rs. 17,000 worth of some articles on a 4% commission
basis. Find his amount of commission :

(A) 660 (B) 670
(C) 680 D) 690

ThT TSieM 17,000 %. JeaT=A1 gl aK] 4% FHHETER fahear™ =t HHEH
IFhH hlal

(A) 660 (B) 670
(C) 680 (D) 690
Find the value of 1202 :

(A) 55 (B) 66
C) 77 (D) 88
120, 3 gem A

(A) 55 (B) 66
C) 77 (D) 88

A bag contains 4 white, 8 red, 14 yellow and 10 black balls. What is
the probability of getting one white or one red ball ?

N B -
(A) 3 (B) 3
o 3 h L
©) (D) 5
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TH W 4 T, 8 T, 14 fGae omfn 10 e Jg 3. TUh! TH
el forel T oo g fHesfauart wwed fadr ?

1
(A) 3 (B) 3
o 3 5 L
©) 4 (D) 9
4 8
If D= , then find the value of ‘D’ :
6 14
(A) 8 (B) 10
(9} 12 (D) 9
4 8 .
SR D = IqE D’ =t fhaa Imen
6 14
(A) 8 (B) 10
(C) 12 (D) 9

What will be the simple interest on Rs. 1,000 at 6% per year for
5 years ?

(A) 300 (B) 200

(C) 100 (D) None of these

1000 TYIE STHS < IHS] 6% S U W@ =S 5 (U=) auig
fordt 2

(A) 300 (B) 200

(C) 100 (D) aSUHT R

In how many ways can the letters of the word ‘REMEMBER’ be
arranged ?

(A) 1650 (B) 1660
(C) 1670 (D) 1680
‘REMEMBER’ =1 3Tt 31eR fhdt f9=1 J&R $HOR =@l Ido ?
(A) 1650 (B) 1660
) 1670 (D) 1680
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If a square matrix, if all non-diagonal elements are zero is called
AS cereeieenie e .
(A) Zero matrix
(B) Square matrix
(C) Row and column matrix

(D) Diagonal matrix

TR IR AEY U THSS Fd T2eh SR I STHAS X - 0000 TRUTC.

(A) [ HRof (B) ©RYE @R
(C) Uil mfor &Y "Rl (D) vl ERof
Theory
Construct the Fisher’s Ideal Index Number of price from the following
information : 10
Commodity 2015 2016
Price Quantity Price Quantity
A 03 10 04 12
B 04 20 06 32
C 05 30 05 20
D 06 40 08 40
E 07 50 05 35
e Aifedoed e ezt fdzmes wmer
qE=] 2015 2016
ferma e ferma e
A 03 10 04 12
B 04 20 06 32
C 05 30 05 20
D 06 40 08 40
E 07 50 05 35
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Federal match company has 40 female employees and 60 male employees.

If 2 (two) employees are selected at random what is probability that : 10
(A) Both will be male.

(B)  Both will be female.

(C)  There will be one of each sex.

Hhel® Hd HUAM 40 B F 60 T HHAR! 3Med. ST QM (2) HHART SaqIS HL
faee 1o W JEeuH 9l 3Ted .

(A) <Rl IY 3T IThdm.

(B) <EREl Bt e ITeRAN.

(C) T @Y U Th Wil Y ITehdm.

Or
(fepam)
If :
4 5 8 13 11 9 1 0 2
A=1|9 6 1 B=|17 15 16 C=1|3 1 5
3 2 1 13 12 10 3 5 6
Solve :
@) A+B+C
@) 3B + 2C.
ST e
4 5 8 13 11 9 1 0 2
A=1|9 6 1 B=|17 15 16 C=]|3 1 5
3 2 1 13 12 10 3 5 6
Hrean

@) A+B+C
(1) 3B + 2C.

P.T.O.
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4. Find the compound interest the amount of Rs. 8,000 at 6% per annum for
3 years. 10
8,000 T 6% TSI 3 THMEES Aae 3THAT & FhHAUS dhdle TS HIal.
Or
(fenam)

Find the value of :

11!
(8 —3)!

@)
8

(8 —3)!

qed INel ¢

(i1)

11!
(8 -3)!

@

8!
(8-3)!

(i1)
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